Question Paper Title : TI_31

Date of Exam : 23-07-2019 10:00 AM

Reference 1D:(11964) Choose the correct form of verb for the given sentence:

We wouldn't mind

A.to wait
B.waiting
C.wait

D.waited

Answer: B.waiting

Reference ID:(11999)  Jelaud! U Veg 35T,

AHeTH]
B.HIeIH]
C.HleH
D.HedH

Answer: B.HIeT&

Reference 1D:(12501) el e FAmeT ?mmm ?




Answer:

Reference ID:(12278)  IRIERI HIal.
65, 58, 58, 65, 78 & 84

A.68
B.85
C.58

D.84

Answer: A.68

Reference 1D:(11983)  RapTHI ST 4R
SHIURSUT a1 TgUIS ... q

A gt
B. 3R
o caribil

D.Tareff

Answer: C.W?ﬁ

Reference 1D:(11975) Choose the correct form of tense for the given sentence:

Every day, the dog at the gate and the gatekeeper him.

A.wait, feed



B.waits, feeds
C.wait, feeds

D.waits, feed

Answer: B.waits, feeds

Reference 1D:(11973) Choose the correct form of verb that is in agreement with the subject:

Always that you proofread your documents carefully before sending
them out.

A.insure
B.ensure
C.assure

D.reassure

Answer: B.ensure

Reference ID:(11988) U1 gafarit fAds .

B.TTgdrd
c.uredita
D.UTgdid

Answer: D.tI'IBT‘ﬁT*[

Reference 1D:(11963) Choose the appropriate articles to complete the given sentence:
blowout is accident in oil well.

A.A ...an....an



Answer:

Reference 1D:(12267)

Answer:

Reference 1D:(11961)

Answer:

Reference 1D:(11976)

B.No article required ... no article required...an
C.The ... an...a

D.No article required ... no article required...a

AA ...an....an

YR Sfaemrd 12 9 HHIBTAT TG ARRG I ayd HIHR
THIAY Peiet 3MTed.

A.35

B.55

C.22

D.15

A.35

Choose the option with the appropriate suffix to complete the given
sentence:

The report requires many modifica

A.-sion
B.-cion
C.-ion

D.-tion

D.-tion

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

All my warnings fell on stony ground.

A.were accepted
B.were received
C.were ignored

D.were given



Answer: C.were ignored

Reference ID:(12288)  Rar oIt v W FagH @ quf &
2,3,4,15, 56, , 1704

A112
B.285
C.192

D.234

Answer: B.285

Reference ID:(11998)  ®IUIAT fAuadiid Thde- Udd ST, ‘BT © 3Med?

ATl
B.aqf
C. gt
BREINEN

Answer: ATTH

Reference 1D:(12265) MR ST BTN UfGedl AT S{LAE DIV Bld?

AT, T, Seif
B. &Y eIt
C.Si1.Ud. qRHE
D.T. §gic

Answer: A s, BIACEE

Reference 1D:(11952) Choose the option that has the correct spelling.

A.Manageble
B.Managable
C.Managaeble

D.Manageable



Answer: D.Manageable

Reference ID:(11985) & ShHTd faifgaldl sRISR aTeRd 3fieswl,
feefl JrT ORUTT SIgTel AISHAA STudTel

A.STRTAT A6 JHH SHTUTTT IR0 gt fae.
B.faell AT6 SRTUAT=H URUM S{TeTell AT Tl
C.dT3 IR SRTUGT SHgTell Jral A faefl,

D.UROM {1 SHTUgT feelt a1 SHTgTa gwl.

Answer: A.STGTAT A6 HA- SHTUAT! UROM et fad.

Reference 1D:(11982) WW%"T 3fiesT.
EIECal

Answer: B.TAlTelT

Reference ID:(12273)  G®&E-Td dHGId-ald] BT HbaRT g1 HERIFHA Wicilees! ot fepoft
fyqd 3me?

A TS
B.3MRTETG
C.38HETR

D.3HIdq

Answer: B.&ﬁ?"‘TWI?Z



Reference ID:(12264)  "ddg Aed" Yed RIMHG A4 A1d H1T 3MTg?

AR YR ST, TH.Sf. IAeig 998 Jea
B.URTcdT YR ST, TH.SHI. IHis oels A
C.[RTcd! YcldR ST, TH.SH. IHIE o8 TSy
D.[RTc! YciaR Y. TH.SfT. IS 978 3%

Answer: ATRIE YoaR 3. TH.SfT. IHEs 9% ded

Reference ID:(12284) A 3{TUT B d UHUI 99 § B 30T C =1 THUT GATUET 12 98 SR 318, C 8T A
g fobcht auf+t a8 ofe?

A2
B.24

C.15

D.10

Answer: A.12

Reference 1D:(11954) Choose the sentence with the correct punctuation to convey the right
meaning.

A.Roma asked Sona, are you coming tomorrow?
B.Roma asked Sona, “are you coming tomorrow.”
C.“Roma asked Sona are you coming tomorrow?”

D.Roma asked Sona, “Are you coming tomorrow?”

Answer: D.Roma asked Sona, “Are you coming tomorrow?”

Reference ID:(12298) Ul Ydd fdshcd™ 3200 TUTIT 40 Yidh TRA! deil 31101 8 GEIH AT faeh!
fpadiuaer 7w g il faw! ddfl. SR Ud® qadr! fhid IRE! sfid
R U I Qasbidl fasht fbdd ST 3i1g?

AX. 1300
B.%. 1100

C.%. 800



D.®. 1200

Answer: D.%. 1200

Reference 1D:(11970) Choose the most suitable conjunction for the given sentence:

he has been drugged or he is in deep sleep.

A.Not only
B.Also
C.Either

D.Certainly

Answer: C.Either

Reference ID:(11989)  faaiedn YT X1 fohamug s,

AZd
B.3&dl
C.3oad

D.3g

Answer: C.3dad

Reference ID:(12285) 4 f&$T&R 1999 AT HHAR 8idT, R 3 STHART 2000 & HIUdT fdaq gidr?

AFUIR
B.IR=dR

C.XPhdR
D.XMAR

Answer: A dYdRR

Reference ID:(12263)  SIUIT GIF Sebidleid Uehal U+ scb 31t sRIST 81 Rl foredt Fafd Hidt
b §ICl 3MTg?

A faorar S 3for &1 db



B.3RTA 31707 fawrn g
C.ATTSIHISNTT dp 311 ST Jp
D. 3RS dab 3O Sragiatem

Answer: A foeran d& afor é=n GG

Reference 1D:(12266) IS ST shHidh 83 HERIFCIIel A R 35

ARTSTYR] @Tel
B.aget
c.fodt

DREINIISY

Answer: A.TIGITQROI Qret

Reference ID:(12268)  HERIPIdIA Sleieh YRAUTTH THET HelUUIRITS! D10 HRIA TMal gHT 3
qecs S@aUHc Jld gTdiiesdull hall 3Ta?

AGND!
B.g 4%
C.Sguas]

D. AT IBR TR

Answer: B.Qﬁﬁtﬁ

Reference 1D:(11972) Choose the most appropriate usage to fill in the blank in the given sentence:

Large factories employ workers for night shifts.

A.routinely
B.routine
C.routiningly

D.rotation



Answer:

Reference ID:(11977)

Answer:

Reference 1D:(11966)

Answer:

Reference 1D:(12300)

Answer:

Reference 1D:(11959)

A.routinely

TTeitd Gart IoRidI TTeTaexd! Siet 9.

A 3UETH-grfdHIg
B.gdoITH-cga®IT
C.3gM-3He
D.3a9-faved

o

A.SUeIH-eTH™IdIq

Which of the following options best combines the following sentences?

It rained. They played.

A.Although it rained, they played.
B.It rained and so they played.
C.They played and it rained.

D.It rained that they played.

A.Although it rained, they played.

Tch GHTFIGRT Slcgls! WRG! il 0T S H 10% 30T 15% 3= JelT g2
a3 200 IO fogiferd ol I dEgPIaR 7 ¥Ud WY ol AT Sicgrerdl
208 TUT fash! dell. AT TR CadhaR] B Sc?

A.58%
B.44%
C.30%

D.50%

C.30%

Choose the appropriate collective noun to complete the sentence:

William Shakespeare is famous for his of sonnets.

A.anthology



Answer:

Reference 1D:(12260)

Answer:

Reference 1D:(11965)

Answer:

Reference 1D:(12271)

B.garland
C.couplet

D.collection

B.garland

AT SN Y= datelt B 11 51 HIST AISHT 81 HRIRM Haiferd 38?2

Choose the most suitable determiner for the given sentence:

It is an interesting movie that | stayed awake late all night to watch
it.

A.so
B.very
C.too

D.such

D.such

TS FAEUT 2019 REHRML, GRS STH UG HRUR IT-5. 1" T
FTeierdes! 10T HRTT ISATel YR HRuard STa?

A.BTURTATE
B.UGId

C.ToRTd

D.HeOue Y



Answer:

Reference 1D:(12299)

Answer:

Reference 1D:(12261)

Answer:

Reference 1D:(12252)

Answer:

Reference 1D:(12276)

A BTG

ST dicar! fhHad 30 Taaait aTed, dwl Udh Hed Td gl SATefueT had
20% SR Bl SRAYUGR AT STHNT HH Hd. SR Jaf Heargk 50 fdf
dicesTd Yaq Pl S 3d, TR Heardl AdH IUHTT FleT (3farT)?

A.43 T
B.44 fb Y
C.45 fb
D.46 foU

D.46 fU

“Soll SATOT qFfaRUTaRTeT SHIARRISIY URSE 3701 Fa=i: SHegT 1o et
(TSN 2019) & AT bt grall

A BTG
B.7Td! feedl
C.IdTgE
D39S

B. T4t faealt

HERTY dich Hal Hraal 2015 =1 YRHTAT faieT Uy Hfg=gra
ST AT aiaTed Jferd Hed.

ATH
B3
caH

D.{el

cdH

TAHY Gy dUR HRUTATHIS! dTRed] SITUM=T 3essa] Teitcite! o Iordm
gofieht Tefda sRgara:



Answer: C.QT-‘Zﬁ

Reference ID:(11979)  fadiedn Ysgirerdd favarf wreq i,

Dol q

Answer: c.fouras

Reference ID:(11995)  3Hdbad-id U add Hl.

AISiaR BHRATS HRUGTE T e foat 3me.

A STHER HRATS HRUTE A 3 fodt 3.
B. QiR HRATE FIUIA A MW e 3.
C ISR HRATS HRUTTIT I AT T 1R,
D.3ISIaR HRATS HRUFT AT ST fera 31T,

Answer: CWWWW 311%{-‘5[%?” Sﬂ%

Reference 1D:(11958) Fill in the blank with the correct noun for the given sentence:

No would attempt a difficult peak without the right

A.climber ... machinery
B.mountaineer ... equipment

C.hiker ... machineries



D.mounting ... instruments

Answer: B.mountaineer ... equipment

Reference ID:(11978)  faaiedn regirerqd favgrdf 2rsar siies.
PUNT — BIFTS X —mmmemmmeme

ATHSH
B.HIS
ch=R

D.®UGR

Answer: cihsR

Reference ID:(12282)  didl 81 UTUATUET 18 UT IS 31T 30T ARISTRAT 10 UT SIS 3MTg. T YT fabcit
TUIRT fERTes el SiTd SUldhe STUITa UToaTa& 16 UT SIS UTd fHgur
fiesa?

A.3:2
B.2:3
C.1:2

D.3:1

Answer: D.3:1



Reference ID:(12280) Wit fadiedT TR Ui SI0TaT Uil WTelt feciedt Twam=it sreuul Jod
ATgr?
Pinegrove-Lhasa Ln, Buchwara, Durgjan, Srinagar,
Jammu and Kashmir 190001
090868 11104

(i) Pinegrove-Lhasa Ln, Buchwara, Durgjan, Srinagar,

Jammu and Kashmir 190001

090868 11104

(i) Pinegrove-Lhasa Ln, Buchwara, Durgjan, Srinagar,
Jammu and Kashmir 190001

090868 11104

(iii) Pinegrove-Lhasa Ln, Buchwara, Durgjan, Srinagar,
Jammu and Kashmir 190001

090868 11104

(iv) Pinrgrove-Lhasa Ln, Buchwara, Durgjan, Srinagar,

Jammu and Kashmir 190801
090868 11104

B.ii
C.iii

D.iv

Answer: D.iv

Reference 1D:(12269)  IUTd! R ekl GI&U-Yd SHTRIHT YR gUICRICIEHIET Sseguasl
TfewsT gd fe?

A3y =

B. BRI HYR T

C. A W dgaax
D.faRTe Higel

Answer: A3y I3

Reference ID:(12257) 30T GRIML HIUTAT Yed RITHHIAT TSRUCHREAT JauT SedEed 3 3
uft fresTett 3ime?



ATTS

X ANEARI]
D.3Rd

Answer: D.{Rd

Reference ID:(12293) 11 TRSATH! TRIERY 50 3178, SR Ufgedl 6 STl TRIERT 6 314d SATf0T Ride= 6
R TRRRT 52 3. TR 6 d TS Flal.

A.55
B.56
C.57

D.58

Answer: B.56

Reference ID:(12287)  Raran Sift givar Wi FagH @ qul &
4,6, 16, 56, 240,

A.680
B.840
C.960

D.1232

Answer: D.1232

Reference 1D:(11974) Out of the following options, identify a simple sentence.

A.As soon as | entered the class the test started.
B.No sooner than | entered the class did the test start.
C.l entered the class and the test started.

D.Ramesh was not able to take the test.

Answer: D.Ramesh was not able to take the test.



Reference 1D:(11962) Choose the appropriate articles for the given sentence:

nurse who has right qualifications will have no trouble finding
job.

AA ...the...a
B.The ... no article required ... the
C.A ... the ...the

D.No article required ... a ... a

Answer: AA ...the ...a

Reference ID:(11981)  U&Id s AT ST xMeq .
CINLS

A TTA0)
B.&Taul

C.XTgul
D.Yigul

Answer: A A0

Reference ID:(12295) 10 Higell Us &1 7 feawid qui xard ST 10 a1 od B Yol Hrraer 14
{39 ArTaTd. &1 Yol HRugrIS 5 Afgar SHfor 10 G fobdt faaw anrdia?

A3 fead
B.5 fday
c.7 fkag
D.9 fead

Answer: c.7 faag

Reference ID:(12281) 5 AIYdl &% Tel degl Th Ucll @ Yedlel RIERT 99 23 Y B, 311l Ucll, ATl
el 31107 IT G3RIT Ti1 FTeied] U TRIGR 99 19 3118, ¥ 39T 99
HT?

A1

B.2



C3

D.4

Answer: A

Reference 1D:(11971) Choose the appropriate conjunction for the given sentence:

The doctors can't take a decision the test results are available.

A.until
B.if
C.but

D.in case

Answer: A.until

Reference ID:(11986) b1 SIIfl Ay Rreg (TS,
fadareEa 3t wifed 3o e AR B0 S ——-eemeerev

A fadgfaar
B.&H
C.HURS

D. 3R

Answer: YN ORIGESIES

Reference ID:(11992)  U&ld IrTdIe SRRAd ST UhR IS,
IR AIEH ST IE 8.

A R[eSTN 3T
B.fohafaivur srem
C.HIAVNl 3o
D.IHUTIY! 30T



Answer: B.forarfa=iyr sy

Reference ID:(12270)  HERIYHHUTA Il IIoHT Higei<al Tad JeadT TTei-1 il 7d SUhH 3Mf01
IS DI GRIGUATTS! Hef TRAVATAR HR <.
A HTTHR
B. ATkl
C.HeMRI
D.fexepull HERIY

Answer: D.%W'Jﬁ q’s’RTgEﬁ

Reference ID:(12290)  dTodl BBHY 75% R YA BosHE 20% U0 3RId. SR YR Hhesid qoi-
300 fob¥ 3/, aR il dreil SRIAHT &id THUT dol B gld?

A.900 T
B.850 fob¥
C.920 fY
D.960 fob¥f

Answer: D.960 ff

Reference ID:(12272)  Scx-RMd TAuirall, RUIEH fdarse siedq sifidpe ST U Wi
A= 2019 USRI Hal. 180 SUTH SNTfae UY WId=g HeLiemeE
YRATAT fhdd RIF HeTa?

A.150 9
B.160 d
C.130d

D.140d

Answer: D.140d

Reference ID:(12296) A 30T B U $1H b 15 faaw o1fir 10 feawia guf o= Travard. il
Uha DTH DRI GdTd ol Ul 2 fdadi-ar B A1 10 WigH S1d ARTe {01

Tdhedl A 5 JaRd &1 gl ot ot & focdt feawid gol g s

A.8 faay



B.10 f&aq
C.12 feayg
D.15 f¢ag

Answer: c.12fdag

Reference ID:(11980) & ST IR SIIS2Teg foral.

Answer: B.H]E‘H@ﬂ?{

Reference ID:(12251)  Jeid aiddTd GaRATd 3 dTeRER Hagl.
MERAdE d Tl SIaRT dRTg! U9RaedT STdTd.

ATTYSS gTaor
B.gIdSdl 3340l

C BIdQST 3100
D.fU=81 QRqul

Answer: B.dId<d] 3340

Reference ID:(12294) A 13,000 SUTHT TR WRdl ohall, I &AM 3500 SUTHT fadl godl dail,
it 500 T9Y A6 W (G al. FI i1 foret 50% TR fdeh! e,
grdfadd: I foe fod! foradia fawt dat?

A.18500 ?.

B.25500 %.

C.22200 >.

D.19600 .



Answer: B.25500 .

Reference ID:(12279)  dR uIgdl U9 a0 XA GTAT GUIC Bid. ATIRA Tel d¥i-R, J9d a4
RTAT 94T had 1.5 U 3. aR 9 10T < G&Td 99 3IhH B
3c?

A.20 ¥ 31O 16

B.24 Y 3M1for 14 9§

C.26 I¥ 3M1for 15 9

D.30 a% 3(1for 17 o

Answer: B.24 ¥ 3fUr 14 9§

Reference ID:(11997)  U&Id ardTdId [aRTATg 3fies.
B o daied e SYBTE! TR Hdw SGHT |

AR g

B. &g

oSILIER

D.JERIT

Answer: D.3§R|%|%

Reference 1D:(11960) Choose the option with the appropriate suffix to complete the given
sentence:

My brother is the tall__ boy in his class.

A.-ful
B.-hood

C.-est



D.-ism

Answer: C.-est

Reference 1D:(11968) Choose the appropriate prepositions for the given sentence:

The concept ecotourism has gained publicity the past couple of
decades.

A.in ... in

B.about ... for

C.with ... about
D.of .... over
Answer: D.of .... over

Reference ID:(12253) &g (KUSUM) Tisd Juf U BT 35?2

A fBar Sul gRa Td I el
B. YT 3ol YR&f Td UM T
C. T Sl YRET Ud I e
D.HdT Sl Y&l Td I Tl

Answer: A fHam St Ré& Td IUT HeTHA™

Reference 1D:(11984) gcsnlm I UhR 3N,

3118 WKl 1 YD UTHIOIBYU! HTH el UTigol.

A gt
B.fary ara
C.Igad aI’
D.had a1

Answer: B.fay ar

Reference ID:(12000)  Ueld aiasaR =l g 3ryfen qafg fFHasr.
3T HRUI-



Answer:

Reference 1D:(12254)

Answer:

Reference 1D:(12283)

Answer:

Reference 1D:(11953)

Answer:

A Rge HI0
B.URY &0

C. TR HI0!

D. 30T HRU|

B.URY 0

Tal el I Wreliertes! HIOTT AT T YHIOTT ST HedT Srexmon
R M QRIWPR 2019 A FHIHd bl T gld?

A Sl YgdR daddR
B. 1. fas $HR s
C.JT. HWHId Rl
D d%p& g

D d%p& g

T SATOT S1&aeaT 9dHM aaid UIRR 3fIehH 5:4 3118, < auiHdR, Ifen
T TUIRR 3HH 11:9 BISd. H&Td qadH g auiae favd! 3Mg?

A24
B.27
C.40

D.35

A.24

Choose the option that has the correct spelling for the missing word in the
given sentence:

Do you the words of the song?

A.rember
B.remember
C.remamber

D.rimember

B.remember



Reference ID:(11991)  Resrrr Wit avg gty fRaa.
eg T ST AUMRT S T Reqidl ATd dTeTdid G-l TETe UearRN Jae
SISUAT HTH HIAd il ... 3 TG,
A SHITGYT 3Ty
B. (e 3l
C.forarfarivor s

D.Baqyanit 3o

Answer: B.Qlaflllil 3

Reference ID:(12286)  WTeil fadiedl Yacided 3ichia Ueb RIS ohH fadiall 3118, YR gablar ohH
3l

729, 1331, 2497, 3375, 4913

A.729
B.1331
C.3375

D.2497

Answer: D.2497

Reference 1D:(11956) Choose the correct form of adjective for the given sentence:

This work is not good enough for someone of your ability.

A.unsatisfactory
B.dissatisfied
C.nonsatisfactory

D.unsatisfied

Answer: A.unsatisfactory

Reference 1D:(11967) Choose the correct form of modal auxiliary verb for the given sentence:

Unless you work hard, you not pass the examination.

A.will



B.need
C.should

D.ought to

Answer: A.will

Reference ID:(12255)  HERTY YR faRIeh SR FdH Fgad et HeTe=d Bl
SR JUIR 378

AT 99
B.O¥H &R R’
C. I §R Rig

D.gor &g

Answer: Ao aé‘

Reference ID:(11993)  JaId ATHIAT 3T faRISom=n v fAger.
HUC

ATl

B G
C.Hapid
D.HIS

Answer: C.IpRd

Reference ID:(12277)  Tdiid HISUIIT HISigdd ST BT S0T Wl feeiedr U IR o:
M4ET%19IB@UBON#WFIV7*2AH3Y5$6K
I ATSUNAE 3 fohd! WR 3MTed a1 UG I=AT T el Tw=A 1for &
R oo 3M18?
ATH
B.aM
oksiG|

D.AR

Answer: cdm



Reference 1D:(12297)

Answer:

Reference 1D:(12292)

Answer:

Reference 1D:(11987)

Answer:

Reference 1D:(12256)

1 STHaRT 2006 Joht AR BIAT. 1 THART 2010 ISit SIS BT fead
gIdn?

A R[HAR
RUBEIR

CcIfdar
D.IHAR

AXHAR

T 7 &3 U ardTer 2 fhHIar™ aread TdT. SR Ufgedr U ardraed
FHIUca 3R 35 fohHl 3RId, R 12 dRITHE ST THUT 3R S gl ?
A.422
B.552
C.502

D.492

B.552

fedied ST uRad- HRUgMNTS! TG Taiy fAgeT,
U A § AICH Sread. (Yol Hiq=ewhie)

A SfUdd 3ig
B.SfYdd Bid
C Sfudd 3
D.§4Ud 3

C.gfedd 3

® URATd AT YRS gld Sai-1 Fdlt SATf0T a1t faargrean
UGl SHIGT e,

AZR % fagmarR

B. X! fddera

C XTSI A HigH 0>
D.71UTe5 U] 3R



Answer:

Reference 1D:(11996)

Answer:

Reference 1D:(12289)

Answer:

Reference 1D:(11957)

Answer:

C ST I Hig4 Y

qeid areITaiel 3o 3ol

J AR o WY 43 b,

Ad
B. AR

cd
D.3NvY

B.IER

G aTdiar, Jerar UAuH didedsd 200 ¥U gld HIT &M d 20% T dredd.
95T Uhal T T XaBH 25% T dTedat. aiceHdid i U= 4ed §
3R e IepHUEH fobell Torb 3ifAh 3re?

A.40%
B.50%
C.80%

D.60%

B.50%

Choose the correct form of adjective for the given sentence:

Modeling is a glamorous field, which offers tremendous opportunities to
travel and meet classes of people.

A.various
B.variety
C.variant

D.varieties

A.various



Reference 1D:(12291)

Answer:

Reference 1D:(11994)

Answer:

Reference 1D:(12259)

Answer:

Reference 1D:(12262)

A 301 B § TR ANTIHIG I1ad 3HTed. A 30T B 8 &R driTel 3fehd 2
U= 3107 3 U1 T AT ATd 3HTed. SR i1 TebTes! 8 aTolal [a%eg faRme
UhTd fEHIUTaE ATl geard el a8 Jbredt 9:30 Tdd o fobet aet
THHBIHIR cild.

A5

B.7

C.6

D.8

C.6

Yeld drerrd fdl fa=ivoy sifed, d i,
JEHT 3T HINOT 3ThHS HT0T SIRBY ool

AR
B.R
Cz

D.¥

Cz

HERIPAHT HIUIT A G&bIes UfdsY IUhH TUL T T STH
3101 Jgetl fergifohd HRUTAMATAT GRIYUT dhedTed o STl HEl §ld?

A.3GRarat

B.XTUTHI3T

C.HIY
ACEIE

B.XTUMH[R]

HeRIymie @reitede! HIvft Wal 3fear gy A= 2019 TY 17 quidTilal
HefeaT Sga foRarsia e gavl uas fida?

A 3T 0T



B.SIfd Urcid
C.3AMYIR

D. YT §IHd s

Answer: C.3RIMUdR

Reference 1D:(11969) Choose the appropriate prepositional phrase for the given sentence:

In general, we were her performance.

A.in high spirits with
B.in exchange with
C.impressed with

D.in dispute for

Answer: C.impressed with

Reference ID:(12275)  WTciicid! SI0Md dTYHMR U6 3Mg?

AHIR

B.f&ut Afcdar
C uffreR
D.¥hg

Answer: B.foilt Ifgery

Reference ID:(12274)  Uf3H SR WIelTedeh! HIUT e SRMTHL T g THar™mar
SUIBITHTT ol feal?

AT TR

B.HERIY
C.BUNTS

D.[agR

Answer: B.IIBT\’TQ



Reference 1D:(11955) Choose the appropriate option with the correct punctuation marks for the
given sentence:

Summer holidays and a trip to Goa what more could anyone want

A.Summer holidays, and a trip to Goa what more could anyone want?
B.Summer holidays and a trip to Goa, what more could anyone want.
C.Summer holidays, and a trip to Goa, what more could anyone want !

D.Summer holidays and a trip to Goa! What more could anyone want?

Answer: D.Summer holidays and a trip to Goa! What more could anyone want?

Reference ID:(11990) AR fhamgeran avg SuRl fAas &,

A YT ...

APd
B.&dl
C.dl
D. !

Answer: A.ﬁ

Reference ID:(12258)  HRdR HIMfad &g (LT A Fagie) 3 fYd og:

Answer: DAY



